
Heat capacity as a susceptibility

a.

stong bottle: constant volume
insulated bottle: no thermal energy passes through walls

Energy change of gas comes only
through resistive heating. . . 
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. . . this change of energy causes a change of
temperature that's measured here.

The energy change is ∆E = IV ∆t so CV =
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CV goes to infinity at T = Tc, so E(T ) has infinite slope there.

c. Cause: change in T Result: change in E

If CV is large, then a given change in T will result in a large change in E. The E of the system is highly
susceptible to change through changing T . Conversely, if CV is small, then a given change in T will result
in a small change in E. The E of the system is relatively insusceptible to change through changing T .

d. Cause: change in p Result: change in V

The text is exactly the same as above, except changing CV to κT , T to p, and E to V .


